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1B - Squeeze Theorem

If we have sequences a,, b,, and ¢, such that:

@@ @for all nelt
and

lima,=limc,=L <o
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Then limb, = L

n—w

1B - Squeeze Theorem - Examples

D Im22E s 2 |
n—0 n
L ¢ dnn £ J—
Lo X "
Jin oo [ S,h,\’\ 0
n~>> e
[ir tov Y S8 ™A

1B - Squeeze Theorem - Examples

2) hmm —] ¢ (osn 2l C'ﬂ\[-l)
n—»0 n+3
—| £t |
| € 2-(osn e
[ J-cosn 3
{\J}é n+5 £ oard

I s o, 2,0 (6vnm et

NS Ay




1B - Squeeze Theorem EXPORT.notebook February 05, 2016

1B - Squeeze Theorem - Examples 1B - Squeeze Theorem - Examples

4.) Problem #2 from 1B homework

n 5
a.) Show that 6—S6—xé for n > 6.
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Homework
1B p.10-11 #1(a,b,d),3,4

Key Problems: #1(a), 4
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